
ICS Part 2 Economics English Medium Online Test

Sr Questions Answers Choice

1 The step will increse saving in Pakistan
A. Increase in taxes
B. Decrease in taxes
C. increasein population
D. Increase imports

2 It creates difficulties in measuremtn of national income of Pakistan
A. Low literacy rate
B. Parliamentary form of Govt
C. Huge imports
D. High Taxes

3 It increses rae of capita formation
A. Less saving
B. New Technology
C. Rapid Population growth
D. High Intrest

4 Literacy rate in Pakistan is.
A. 40%
B. 50%
C. 60%
D. 70%

5 Working population is percent of total population of Pakistan.
A. 23%
B. 33%
C. 43%
D. 53%

6 Pakistan per capita income in less than.
A. Japan
B. India
C. Korea
D. All

7 Which of the following is an example of primary production
A. Production of computer
B. Farmer grwoing wheat
C. Opening of new school
D. House wife bakes a cakes

8 Average growth rate of Pakistan's national income in past five years have been
A. 3%
B. 13%
C. 23%
D. 33%

9 Base year of Pakistan for natonal accounting is.
A. 1985-86
B. 1995-96
C. 2005-06
D. 2015-16

10 Which one is per capita income is
A. Per worker income
B. Per person Income
C. Per family income
D. Per Industtrial unit income

11 The share of 20% of population which forms the lowest income group gets share of
Pakistan's national income as.

A. 6%
B. 9%
C. 12%
D. 15%

12 Contribution of industrial sector in Pakistan's GDP is.
A. 20%
B. 30%
C. 40%
D. 50%

13 Population Growth rate in Pakistan is
A. 0.9%
B. 19%
C. 2.9 %
D. 3.9%

14 In the world population wise Pakistan is

A. 4th

B. 5th
C. 7th
D. 10th

15 Largest Sector of Pakistan economy is.
A. Agriculture
B. Industry
C. Transport
D. Services



16 Pakistan Per capita income of constnat prics in 2020 is in dollars
A. 1450
B. 2450
C. 4450
D. 6450

17 Pakistan's domestic saving rate is
A. 2%
B. 7%
C. 17%
D. 27%

18 Litracy rate is lower in
A. Males
B. Females
C. Urban Areas
D. B and C above

19 There are stock exchange in Pakistan.
A. 1
B. 3
C. 4
D. 5

20 People do not care for environmetn problems because of.
A. Lack of education
B. Fear of taxes
C. Proverty
D. a and c of the above


